12/10

EIBENSTOCK

Elektrowerkzeuge

| Onderdelentekening

EMH 650
230V




EIBENSTOCK

10.098.80 - EMH 650

Elektrowerkzeuge

dec-10

Positie Artikel Artikelomschrijving Aantal Positie Artikel Artikelomschrijving Aantal
1 10.208.01  Rubber ring TBV EMH 650 1 st 43 10.532 Lager 6000 - 2RS1 1 st
2 10.208.02  Bus tbv EMH650 1 St 44 10.208.44  Lagerkap tbv EMH 650 1 St
3 10.208.03  Ring tbv EMH650 1 st 45 08.002.14  Schroef (kruis) 4 x 12 schuko 4 St
4 10.208.04  Fixeerring tbv EMH650 1 St 46 10.208.46  Krukas 1 St
5 10.208.05 Kegelveer 1 St 47 10.208.47  Centreerpin tbv krukas 1 St
6 10.208.06 Kogel 6.747-100 1 St 48 10.203.21 Naaldlager HK 0808 1 St
7 10.208.07  As SDS 1 st 49 10.208.49  Pakking 1 st
8 10.208.08 O-ring 11x2 2 St 50 10.208.50  Zuiger EMH650 1 St
9 10.208.09  Slagbout EMH650 1 st 51 10.208.51  Plunjer 17x4 1 st
10 10.208.10 Lager AX0821 1 St 52 10.208.52  Astbv zuiger 1 St
11 10.208.11  Kunststofhuis EMH 650 1 st 53 10.208.53  Zuigerstang 1 st
12 10.626 Cylinderschroef M4x25 DIN 84 2 St 54 10.208.54  Zuiger compleet 1 St
13 10.208.13  Borgveer A40-5D 1 St 55 10.208.55 Deksel tandwielhuis 1 St
14 10.208.14  O-ring 30x2.5 1 St 56 10.208.56  Ventitatorschoep EMH650 1 St
15 10.208.15  Stootring 1 st 58 10.203.42  Lager 627 1 st
16 10.208.16 O-Ring 32x4 1 St 59 10.208.59  Anker EMH650 1 St
17 10.208.17  Schrijf tbv EMH650 1 St 60 10.203.43  lagerkap voor lager 627 1 St
19 10.208.19  Bus (voor) tbv EMH650 1 St 61 10.208.61  Luchtgeleiderring EMH650 1 St
20 10.208.20  O-Ring 14X4 1 st 62 10.208.62  Veer tbv EMH650 1 st
21 10.208.21 O-Ring 9X3 1 St 63 10.208.63  Ontstoringscondensator EMH650 1 St
22 10.208.22  Bus (achter) tbv EMH650 1 st 64 10.208.64  Veld EMH 650 1 st
23 10.208.23  Borgveer 2 St 65 10.208.65  Schakelaar EMH650 1 St
24 10.208.24  Beitelhouder 1 St 66 10.208.66  Weerstand tbv EMH650 2 St
25 10.208.25  Beitelhouder compleet 1 St 68 10.208.68  Motorhuis EMH650 1 St
26 10.208.26  Stift SDS 4 St 69 10.208.69  Koolborstelset EMH650 1 st
27 08.002.24  Schroef (kruis) m5 x 25 4 St 70 10.208.70  Koolborstelhouderset EMH650 1 St
28 10.208.28  Schrijf 1 st 71 10.208.71  Spiraalveer EMH650 2 St
29 10.208.29  Slaghamer 1 St 72 10.208.72  Koolborstelhouder compl EMH650 1 St
30 10.208.30  O-Ring17.04x3.53 1 st 73 10.208.73  Koolborstel slijtbev EMH650 1 st
31 10.208.31 O-Ring 44x2 1 St 74 10.208.74 Handgreeppaar EMH650 1 St
32 10.208.32 Tandwielhuis EMH 650 1 St 75 08.002.23  Schroef (kruis) m5 x 18 4 St
33 10.208.33  Lagerbus 1 St 76 10.208.76  Afdekkap handgreep EMH650 1 St
35 08.001.03 Moer(zeskant) m4 din 934 4 St 77 10.208.77  Trekontlasting 1 St
36 10.208.35 Schrijf 8.1x19x01 1 St 78 10.207.24  Schroef HC4.2x9.5 2 St
37 10.208.37  Schrijf 8.1x19x02 1 St 79 10.390 Aansluitsn QWPK groen 2x1mm 3m 1 St
38 10.208.38  Schrijf 8.1x19x05 1 St 85 08.002.11  Schroef M4x10 Verz kop 2 St
41 10.208.41  Tandwielrad tbv EMH 650 1 st 86 10.208.86  O-Ring 17x1.5 1 st
42 10.208.42 Schrijf 10.1x22x02 1 St

Wijzigingen voorbehouden




	10.098.80 - EMH_650_Version01
	10.098.80 - EMH 650



